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CBCS
1st Semester
PHYSIOLOGY
| PAPER—GELT
{(Honours)
Full Marks : 40
| Time : 2 Hours

%  The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
] own words as far as practicable.

Blo‘pd and Immune System and Cardiovascular System

‘Mlustrate the answers wherever necessary.

1. Answer any five questions : 5x2
ﬂa) Write the function of Plasma I:Srotein. 2
{p) What is abnormal Hb? 2

[§8]

(E) What are mean by Ag and immunogens ?
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‘ {d} Write the name of phagocytosis in the blood. 2
(e) What is nodal delay ? 2

{f, What is meant by QRS complex in ECG? 2

{g) Define mean pressﬁre. 2
(h} What is téchycardia ?_ 2

2. Answer any four questions : 4x5

{a} (i} Write the intrisic pathway of blood caagulation.

(1i) Write the name of factor X. 4+1
{b) Describe the molecular structure of Antibody. 5
(¢} (i) What is cardiac output ? 15

b

(i) Write the relation between cardiac output and A

heart rate. 1

K[
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(i} What is cardisc Trdex. 1

{d) (i) What ECG ? Write down the Einthoven's principle. .

(ii) What do you mean by the 'Lead’ of ECG ?

‘ (2+1)+2

(e} Write briefly on blood transfusion and its hazards.
| 2+3

() What is blood pressure ? Discuss the factors those
| regulate blood pressure. 2+3
\

3. Answer any one question : 1x10

i(a) (i) Write down the causes and prevention of Graves

disease. 4

(i1) What are cytokines ? Write the example,

(13+1)

(ili} Describe the HIV virus. 3

B[
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(b} 1) Describe the ventricular events of cardiac cycle.

4

ii) How the cardiac impulse is propagated from S.A

node to A.V node

iii) Write short note on Atherosclerosis.
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